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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)      (02) 

          





       


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Section–A

–

Long Answ er Type Questions

 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Critically explain the development model of Solow.



2. Explain the relationship between Environment and

Economy. How does Economic development affect

the Environment ?





3. What do you understand by poverty ? Discuss Absolute

Poverty and Relative Poverty.




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4. Explain John Robinson’s development Model. How is

it related to the Harrod-Domar model ?





5. What is Import Substitution ? Describe the role of

import substitution in Industrialization.





Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

 (08) 

(08)

(04) 

1. Write a short note on Conventional and Non-

Conventional source of power.

 


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2. What is the importance of the concept of Intellectual

capital formation in the context of Economic

development.




3. “Agriculture is the mother of Industrialization”. Explain.



4. What are the basic models of Planning in India ?

Explain.



5. What effect do the Government Institutions have on

Economic Development ?



6. Explain the difference between Labour Intensive

Technology and Capital Intensive Technology.



7. Write a short note on ‘Two Sector Development Model

of Mahalanobis’.




8. What is Domar growth Model ?



**************


